Evemaiine Use this equation of a line: = x@—-\/

(0S)

a) How many Point-Slope equations are there for Write this equation in Point-Slopg Form. )

theline. |initely Many ( >
\/ _ Y( = PO y = XL
- =, = -0
b) How many Slope-Intercept equations are ther \/ 6 ?7 </X >
for the line. Only ONE \{ — 6 ) 3 ’

ec 6-2: Slope-Intercept Form for the equation of a line. STty eiSlopeian i miSIcEphor eschiSquStion:

Equations should be Slope-Intercept Form to answer these questions

y=mx+b y=3x-1 y=x+137

Slope: 3 Slope: |
slope Y-intercept y-int: —| y-int:  |3.7)
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a)
>/:, 1 X —kb Writing the equation of a line in Slope-Intercept Form:
= @S SSsA) = Write the equation of the line that passes through these
Slope: -3 two points in Slope-Intercept Form
y-int: % Slope: unde, Koy (2, 1) and (-3, 21)
y-int: rone | 5o
~b = — _ First: Findthe slope. n~ —5——>— ™= —¢% = ~ “f
d ﬁ’(‘l 3% -3 This is a Vertical Line 31 5
J‘[o Slope is Undefined

Second: Write the equation in Point-Slope Form

; ~ 3 3 and it doesn't touch the N- (= =Y (% LY
- -axis!
m 5 y Third: Change Point-Slope into Slope-Intercept } @

_ = 4—?
\/ﬂ Yy



(2,1) and (-3, 21)

First: Find the slope. "\ = -~ kf

Second: Replace m iny = mx + b with the slope Y = —-Yx -+ l:;

Third: Replace y and x with the coordinates of one of

the points \ - —"((7/> ']‘3?

Fourth: Solve for b.
=-Fth e
L= EY b

Fifth: Rewrite y = mx + b with the values of m and b
you've found.




